ERERE

BRSH

NEAETE

I 37 £ M BE(TTHR L )

139 37 £ M E (R VFSEE M@ 360°)
& KW

P/ S

BRAAUEEM

BRI SRR

BB RER
MREBEXRGABLER
BEEXREEHIER
AHESEREERHK
MTTFd/MTBF

ftea Bk
FHEARBRMFE(typ.) RIFEERX
T AR BRI FE(typ.) BEEN
B /N BB PE S Bk
MHRARBER AR

Pk 3T 18 %l 57 =

B R AR M R B AR

H[6) BB R E

BIRGGEBE

R BRERE

BIRALGHEBE

E S

HEBESEETR
BRAKBBEIR
BROBSEZETR
BRAGBBEAR

Mechanical data

Mechanical range

Protection class

Min.life

Operating & storage temperature (with wires)
Operating & storage temperature (with round ca
IEC 68-2-6 Vibration (Amax = 0.75mm, f=5 ...
IEC 68-2-27 Shock

Standards
EN 55022las$B, Emissiogadiated (30... 230 MHz)

EN 55022las83, Emissioadiated (230...1000MHz)

EN 61000-4-2, ESDPntact dischargair discharge)

EN 61000-4-3, Immissiomddrated (80... 1000 MHz)

EN 61000-4-4, Bursh @ll lines)
EN 61000-4-5, Surtiegs to ground)

EN 61000-4-6, Immissiorcdifducted (0.15...80MHz)

EN 61000-4-8, Immissitagnetic field (50Hz)

IEC 60393+hsulation resistance (500VDC, 1bar, 2s)

o

% of meas. range
% of meas. range
bit

kHz

kHz

us

us

ppm/°K

years

VDC

mA

mA

kOhm

nF

kHz

mm2

mm2

mm2

mm2

movements
°C

ble) °C

2000 Hz)g
g

dB(uV/m)
dB(pV/m)
kV

Vim

kV

kv

Vemk
A/m
GOhm

IEC 60393-Dielectric strength (VAC, 50Hz, 1min, 1bar) kV

Vert X 27E 5V PMW

MH C MH C2
B A
0...360 - WEIH
+0.3 - X%E
+0.5 5 WER
0.1 -
12 -
0.1 -
(5) i fﬁ%ﬁ,@ﬁ-ﬁfl‘
166 ) SR SR 1P6S
(800) - PER .
4600 - ?H%ﬁﬁiwm%ﬁzg
o5 . BRENEGERENE
EAETERNA
668 /668 -
ol el - CRE, B, ML FHE)
(14) - BREESAEEENS
g - S PWEHNERE
10
1
0.1...1 - = B4 A MH-C
yes = YR 12bit
Wires (3x) - HEMH-C2E&H
0.56 (AWG20) - R4S MH-C2
Cable 3pole - 2 ¥E 14bit
0.56 (AWG20) - REIR , ERSEANEETH
yes ) ERRERE (Tik)
Wires (6x) -
0.56 (AWG20) -
Cable 6pole -

0.25 (AWG24) -

360(continuous -
I8 -
no limitation -
-40 ... +125 -
-40 ... 85 -
50 -
200 -

max. 30 -
max. 37 -

Errors and omissions excepted. Subject to
+4 /18 - o 4

change without notice. / State. 01.10.10

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



BB EE CW #R
EMBE CCW ik 2
TUR, EE#ECW ik 3

B B S M

3 Ak &4 4pole

5 ¥Rt 48 3pole

7 Ak R

6pole

9 Ik BB  BHHREHN

B S 3/ 6]

4 ¥Rt B B8 3pole

6 A% BB Li6pole

9 T BB ; BHEN

Vert X27E 5V PWM
Ordering code

TR, EMBECCW Wik 4 KEKE
TR, XXESHETLES 01 ®3%& 10cm
03 ®[i% 30cm
05 ¥7f 50cm
BHES 99 Wik kK
PWM Standard 4
Length of cable
02%5#£1.0m
it - 067 3£3.0m
svg*:;‘;fz 107 #£5.0m
! 997 i% Special length
Vert X 2 7 E 2 7 3 6 2 4 1 5 0 5
BREA
36FR MBS HE H360°
xxA[1£03 to 35; Declaration in 10° steps
QO LA BRI A
tLEBRRE
7MH-C
8MH-C2
HUARAS AR A
22E1AIE R IR R % size 9 ; WM IT L Mtype 1
22E25R A A R B2 size 9 ; Bt 1T Ml Mtype 2
22E9TE BRI SRR AT
1T Bl AT LA MH C MH C2
T HIA TR X
T il S48 X
#Ox% ... y% Ub (within 5% ... 95% Ub) X
PRI R R X
FXMEETTL (max. 2) X
BRI L
RS A SBE 30° to 360° (ex factory) X
BREATRE (R4

BARAMEJLARE (LK)
HE¥ 5 [EMCW/CCW AIiRGE / AT 4wz (BN & KSR H)
REIRARE AT RIE (BN LR

TEL:400-900-8812 4BT : 18017400327 www.jjx88.com

CONIELEC

A company of the Siedle-Group

luck@jjx88.com



3x M3x3, b

Einbaumass

working position
1,6

@14

|y
T
Ll

—

w

@B Hs

¢24,6—805

F o)
T

LLU

1

712
215

13, 35

M3 x3.5(3x)

Einbsumass

working position

oo

w

219

327
|
[

@24,6

-0, 05
I
s

$3 H7 x5

@12

=}

x®

5:)
| O1

1

@6 He

15,6

@15

Vert X 27E2 xxx XXX 5xx
Vert X 27E2 xxX XXX 7Xx
B2 44 (incl.)

1Ix BIEXRF

2x g R E

R4 M5x12

THRABEZ)MEMERTINE R
FHRAED
SERERFR

Vert X 27E2 xxx XXX 4xx
Vert X 27E2 xxX XXX 6Xx

B4 (incl.)
1x B ERF
2x WS
1244 M5x12

THRMEQZ)MEERITIE R
TRAHL
SEREKER

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



Einbaumass . ddds
working positiaon
3)( MBXBA 5 ,] 6
W10 S | D P
5 T
ﬂ ‘ :—= LD“ (2] €
T_ i OS = S‘r
=l el e
| i
I He =
Y 1H s | ]
|=——
2: 8.1 |. 4
Mg (S 10, 5
Einbaumass / *dz
_ working posilio o
|
rE N ~_SW10 1,6 | |4
Lo
FQ o o)l Ty
o ] O, | il o
) / i il s B
1 \ | ] =7 1—!
— i—;_; (@)
] \ - SRR < ] \
\ &/ 'Q e - <E
. Y g i r oo
T »‘ [
(6.9 g
= 5, g 4! s
919 18 | 10,5 B

L

-
i
_—

Cc

Vert X 27E1 xxx xXxx 5xx
Vert X 27E1 xxX XXX 7xx

B4 (incl.)
1x BIEXRF
2x WAL E
24 M5x12

T A B(2) MBI AT AL S
VK B3
BERERER

Vert X 27E1 xxx XxXx 4xx
Vert X 27E1 xxXx XXX 6Xx

B4 (incl.)
1x BEXRF
2x BRI E
22 M5x12

THRMEQZ)MEERITINE R
FRAHEL
SERKER

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



L_thz

T

/tdz

1
**ﬂ 3

Vert X 27E2
REER
THLEQZ)
MH-C 12.80mm
MH-C redundant 12.30mm
B AMERATH R K R FEIL
dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert X 27E1
REER
THLER)
MH-C 1.40mm
MH-C redundant 0.90mm
BT GR K RIFEIL
dx +0.25mm
dy +0.25mm
dz +0.5mm

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



Vert X 27E
[Ty
B EXF
36
A2
. |
R _ _ (] o
& 1 Y
O] & B 24,8
ol
| |
VA ; —
‘ 45,5
o i

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6



